Date: 11/01/2019

<u>Cancellation of locations in the Advertisement published in the website</u>
<u>www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol</u>
Pump) Dealerships" by Hindustan Petroleum Corporation Limited on 14.12.2018

An Advertisement was published by Hindustan Petroleum Corporation Limited on 14.12.2018 in the website www.petrolpumpdealerchayan.in seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State of Rajasthan with Sl. no 1 to3220. The Locations with Sl. No. 69, 127, 185, 194, 503, 673, 744, 772, 797, 801, 804, 1814, 1941, 2036, 2480, 2485, 2523, 2547, 2574, 2599, 2610, 2941, 3060, 3205, 3210 & 3217, as mentioned below, stand canceled: -

Loca tion SI. No.	Name Of Location	Revenue District	Type of RO (Regular /Rural)	Estim ated mont hly Sales Poten tial (MS+ HSD) in KIs	Categ Ory SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC PH OPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	Type of Site (CC/DC /CFS)	Mini mum Front age of Site (in M)	Mini mum Dept h of Site (in M)	Mini mum Area of site (in Sq. M.).	Estima ted workin g capital require ment for operati on of RO (Rs in Lakhs)	Estimat ed fund require d for develop ment of infrastr ucture at RO (Rs in Lakhs)	Mode of selectio n (Draw of Lots/Bi dding)	Fixe d Fee / Min bid amo unt (Rs in Lak hs)	Secu rity Dep osit (Rs in Lakh s)
69	Village Bibirani , Tehsil Kotkasim on Kishangar h Road	ALWAR	Regular	100	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
127	On Likhmewal a Road within Raisinghn agar WML	CHURU	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
185	In Between Kilometer stone 146 and Kilometer stone 150 on SH-25	DAUSA	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5

	Mega Highway													
194	Within 5 KM from Thanagazi Crossing towards Ajabgarh on SH 52	DAUSA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
503	Within 5 Kms from Intersectio n of Delhi to Jaipur Road & Kotputli Mansaur Road on Kotputli Mansaur Road	JAIPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
673	On SH-8 ,Chirawa- Loharu road ,within Surajgarh municipal limits	SIKAR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
744	On Nani Salasar Road 6 KM from Intersectio n with NH- 52 towards Salasar	SIKAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
772	Between Paliwala Bus Stop & Har Prabhu Asra on NH 62	SRI GANGANA GAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
797	Village 7NP (Padampu r - Jetsar Road)	SRI GANGANA GAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
801	Village Kumpli Tehsil: Anupgarh	SRI GANGANA GAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
804	Village Raghunat hpura (Tehsil: Sri Vijaynagar	SRI GANGANA GAR	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1814	WITHIN 2 KM FROM BPCL PETROL PUMP SHRI RAM HARSHAN PETROLEU M BARI TOWARDS	BHARATP UR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

	BASERI ON BARI BASERI ROAD													
1941	BAHADUR SINGH CIRCLE TO MATUND A CHOURAH A ON BUNDI NAINWA ROAD (Outside Bundi WML)	BUNDI	Rural	50	Open	сс	35	35	1225	12	5	Bidding	10	4
2036	WML of Antah	JHALAWA R	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2480	Between Kmstones 183 to 185 on NH 79 on RHS towards Chittorgar h	BHILWAR A	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
2485	Between Kmstones 176 to 180 on NH 79 on LHS towards Chittorgar h	BHILWAR A	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
2523	between km stone 16 to 18 on LHS on MDR 56 (On Bhilwara- Kotri road)	BHILWAR A	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
2547	4 kms from Jala Mana Bus Stand towards Neemuch on Chotti Sadri Road, Badi Sadri WML	CHITTORG ARH	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2574	Between Kmstone 1000 to 1006 from Kota to Chittogarh on NH 27 on LHS	CHITTORG ARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
2599	Between Km stone 181 to 182 on NH 79 towards Bhilwara on RHS	CHITTORG ARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

2610	Within 5 Km from 29 Mile circle, Towards Ajmer LHS on NH 79	CHITTORG ARH	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
2941	Within 3 KM from village Sayra towards Kumbhalg arh	RAJSAMA ND	Rural	50	OBC	СС	35	35	1225	12	5	Bidding	10	3
3060	Within town limit of Chawand, on any main road with width more than 50 ft	UDAIPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
3205	Within 5 KM from either side of Ghodach on Ghodagha ti to Gogunda Road	UDAIPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
3210	From Kaveri Farm House towards Majera Chauraha on LHS	UDAIPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
3217	Within 3 KM from either side of village Pai on Udaipur Jhadol Road	UDAIPUR	Rural	50	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded.

All other terms & conditions of the advertisement published on 14.12.2018 remain unchanged.